Tableaux des Puissances de Dix (H)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,001 0,0001 100 0,1
31 0,031 0,0031 3100 3,1
34 0,034 0,0034 3400 3,4
62 0,062 0,0062 6 200 6,2
16 0,016 0,0016 1600 1,6
40 0,04 0,004 4000 4

X 10 1000 100 0,0001
49 490 49 000 4900 0,0049
92 920 92 000 9200 0,0092
57 570 57 000 5700 0,0057
6 60 6 000 600 0,0006
87 870 87 000 8700 0,0087
+ 1000 100 0,0001 10
14 0,014 0,14 140 000 1,4
91 0,091 0,91 910 000 9,1
57 0,057 0,57 570 000 5,7
41 0,041 0,41 410 000 4,1
50 0,05 0,5 500 000 5

+ 0,001 10 000 10 0,01
17 17 000 0,0017 1,7 1700
4 4 000 0,0004 0,4 400
59 59 000 0,0059 59 5900
32 32000 0,0032 3,2 3200
29 29 000 0,0029 2,9 2900
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